950

P2

2000
1950

& & | 610

54 7 | yUYS-5ERLH (BB

& & | #2000

8 1200

_RE%> | KEMHO00299% 3

50
31

@K/ T

N (175

50 39

T

985

300
50

el

600

K
o

50

PoSr =

230

am

N BB

BUN  sasr. 2@x (1720
S BBOAE S LSETHRTT,

60

S

50

1

GK\

143

=y
B /
(HEBR /10 }@ DEFEE (178 XD
C RN
B Bt i) B® it B i z
557050x 26%t1.6 - =
1 M B 39031x 31%41.0 STKM11A184 v & + HERREE
2| B ft £ 8 t3.2 SGH [
3| FAREYYR t4.5,6 20 "
4 R [ K 050x50xt3.2 STKR400 [
5] % M8 #® 050x50xt2.3 " "
6 Sy Y1 BZN $3.6. $4.5 B o EHK - &+ FERERE
7 vy 45—t LHLy Y -X J- 8
8 | vuvs-§Er-2 t1.0 SGC Fiw- &+ HERREE
9 [yUys-§7L-} t1.6 SGH "
kv IS B $12 BRIEH - &
kv 9 t6. ¢20 B o X+ HERREE
ET v M6 ATYUA
Bov € v 4x 20 "
B & b M10x 75 4.618% BREHYo &
FIAMZRY MB8x 45 ATYLA
E E3 12 E5]
Pty TL -t t2.3 SGH B o & + HENRKEE
A&t M8x 45 ATYVA
b7 ANZY M6x 40 "
I t1.6 SGH B & + HERKREE
FIANZY M4x 8 ATYUVA

50

@/JL\,

BHLSHE: VUV -—0ll RFREBVET,

YUY E=3 (-8 LHLY ) - A% CEALL IO,
(Ny 7ty b B64mm , EE 33~43mm)



